DPP No: 19

Maximum Time
50 Min

MATHS

TARGET
JEE-MAIN

SYLLABUS : DEFINITE INTEGRATION

n/2

1. Evaluate : Ismgxcos“xdx-
0
128 128 64
(A) 1515 ( ) 15015 (C) 15015
Jx
Icostz df(x)
2. Iff(= 4 dt (x> 0) then —3 ~ is

Jx cos x+2cos (x?)

(D) None of these

X /X C0S X+2¢c0s (X ?)

2x+/x ®)
2 1
(C)2 vx cos x- 5 208 (;j (D)  none of these.
_ , : : : _ _(1 lim [0 4t°
3. Let f : R > R be a differentiable function having f(2) = 6, f'(2) = 48 - Then, /™ e dt
equals-
(A) 18 (B) 12 (C) 36 (D) 24
4. f(x) = [&-Dt-27(t-3°t-4) dt (x > 0) then number of points of extremum of f(x) is
0
(A) 4 (B)3 (C) 2 (D) 1
x+h X
I mPtdt - I mPtdt
5. Limit_a = equals to :
2/nx .
(A)O (B) /n?x ©) —~ (D) does not exist
6. The value of the function f (x) = 1+ x+ j (/n2t + 2 /nt) dt, where f' (x) vanishes is:
1
(A) e B)0 (C)2¢e (D)1+2¢
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10.

1.

12.

13.

Yy x2
i d
if [cost?dt = IS'T'“ dt , then the value of > is

2sin® x 2sinx?

(A)

(B)

xcos?y XC0Ss y?

sinx

(A) 1/3 B) 173

a

, 1
The value of ;—L’E‘o = [In@1+e*) g4x equals

0

A0 B) 1
X sinxcosy
_ [ SIXCOSY 4y
£(x) {y2+y2+1  then

(A f' () =0 yx= %,nez
©)f'(X)=0 yx=nr,neZ

/2
J' sin*xcos® xdx s equal to
0

®) 5 ® =

1
[ x*(-x)’dx is equal to :
0

1 1
(A) 50 ®) 35

X2t

e
f(x) = [~dt, then f' (1) is equal to :

X

1
If j t2 (f(t)) dt = (1 — sinx), then f (%J is

©) 2sinx? D) sinx®
X {1 —2sin sz 2y
2
)3 D) 3

©) % (D) non-existent

(B)f'(x)=0 vx=(2n+1)g,neZ

D) f'(x) 20 vx e R

2 2
©€) 15 D) 35

i

2
©€) 15 (D) 120
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14.

15.

16.

17.

18.

19.

20.

X2

() Iffx)=5%andg(x) = | t

- dt, then find the value of f'(/2).

> in (1+1%)
a
dx I\/cost dt
. X
(i) ThevalueofLbim o
x~0 1-+Jcosx

2

. 1
(i) Find the slope of the tangent to the curve vy = I cos " t? gt x = %

X

3n/4

dx
I T+cosx IS €qual to -
n/4
(A) 2 (B) -2 C)1/2 (D) —1/2

1 1 2 2
it1, = [ 2%, = [2%ax, 1;= [2dxand 1,= [ 2" dx then
0 0 1 1

A) I >1, B I,=1, ©1,>1, D) 1,> 1,

1 sinx 1 Ccos X
Letl= I_& dxand J= I Jx dx. Then, which one of the following is true ?
0 0

2 2 2 2
(A)1> zandJ>2 (B)I<gand J<2 (C)I<zand J>2 (D)I> gandJ<2

3
Let = I\/x“ +x? dx, then
1

(A 1> 610 B)I< 22 (C) 22 <I< 610 (D)I<1

2n

sin? x-+sin x+1
I[= Ie d%, then
0

(A) ned <1< 2ned (B) 2ne¥4 <1< 2ne® (C)2ne3<1<2re* (D)0<I<2n

Letf’(x) >0, f’'(x) >0, f(0) = 3 & f(x) is defined in [-2, 2]. If f(X) is non-negative, then

2

0 2 1
A) j fo)dx > 6 ) j fo)dx > 12 ©) j fo)dx =12 (D) j foOdx > 12
1 -2 -1

-2
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nj'z sin? x dx ]
21. The value of e is-
T T T T
(A) 3 (B) 1 ©) ¢ D) 3
2n+%
22.  The value of I (SinTEX){g}dx is (where {x} denotes the fractional part of x) -
—2n
—2nm+1 n (n+1 2nt—-1
2 (B) - €) — (D) 2
23. Let f,gand h be continuous function on [0,a] such that f(x) = f(a—x), g(x) = — g(a—x) and 3h(x)
—4nh(a—x)=5.Then | £ g(x) h(x) dx =
(A) 5/4 (B) 3/4 (C) 1 (D) 0
24.  The inflection points on the graph of function y = I(t‘l)(t‘z)zdt are
0
(A) x = —1 (B) x = 3/2 (C)x = 4/3 (D) x = 1
1
25. Let I = [(1-x*)"dx, (1eN) then
0
(A)3nT =@n-1)1_, vnx2 (B)3n-1)I =3n1_,vnx2
C)@Bn=NL =@n+1)1_, vn=2 (D) @Bn+ N =3n1_ vnx2
*kkkkk
ANSWER KEY OF DPP NO. : 19
1. (B 2. (B 3 (A) 4 (B 5 (B 6 (D 7. (B)
8&. () 9. () 10. (B) M. (D) 12. (A) 13. (e)
{8 1
14. () 42 (i) 12 (i) | 3 7 |™ 15. (A) 16. (C) 17. (B)
18. (C) 19. (B) 20. (C) 21. (B) 22. (A) 23. (D) .24. (C)
25. (D)
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